Math Summer Assignment for

Algebra 1

Wall Township Math Department
Optional Summer Assignment

% This summer assignment is intended to prepare you for the math course above.
% You will find examples and video links to help you complete the practice.

Skill 1: Determine the slope of a line in a variety of ways.

Helpful Video Link:
-> How to find the slope between two points

=> Finding the slope of a line from its graph

Practice:

Determine the slope of the line through the given points.
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https://www.youtube.com/watch?v=wvzBH46D6ho
https://www.youtube.com/watch?v=R948Tsyq4vA
https://www.codecogs.com/eqnedit.php?latex=(4%2C%206)%20%5Ctext%7B%20%20%7D%20(2%2C%205)#0
https://www.codecogs.com/eqnedit.php?latex=(8%2C-8)%20%5Ctext%7B%20%20%7D%20(-3%2C%203)#0
https://www.codecogs.com/eqnedit.php?latex=(-2%2C%20-8)%20%5Ctext%7B%20%20%7D%20(3%2C%202)#0

Skill 2: Use function tables

Helpful Video Link:
-> Complete a Table of Values Given a Function Rule

Practice:

Complete the function table using the given rule.

1) | Rule: ¥ =2z — 5 | Table:
X -5 0 o 10
Y
2) 1 Table:
Rule: 4 25U g
X -4 -2 0 2
Y
Determine the rule for each function table.
3) | Rule? Table:
y = X | 2 3 4
y 10 14 18 22
4) | Rule? Table:
y= X -1 0 ] 2
y 3 -2 -/ -12
Create your own rule and function table below.
5) | Rule? Table:
Yy = X
Y
6) | Rule? Table:
Yy = X
Y



https://youtu.be/DVEbAla0AlU
https://www.codecogs.com/eqnedit.php?latex=y%3D2x-5#0
https://www.codecogs.com/eqnedit.php?latex=y%3D%5Cfrac%7B1%7D%7B2%7Dx-5#0
https://www.codecogs.com/eqnedit.php?latex=y%3D#0
https://www.codecogs.com/eqnedit.php?latex=y%3D#0
https://www.codecogs.com/eqnedit.php?latex=y%3D#0
https://www.codecogs.com/eqnedit.php?latex=y%3D#0

Skill 3: Graphing linear equations

Helpful Video Link:
-> Graphing Lines Slope Intercept Form

Practice:

Complete the table and then use it to graph the line.
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'ID:
X of
6_
y al
2t
08 6 42 [ 2 4 6 8.0
2}
_45
_5:
—8:
S0k
2) |ly=x+5 Table: Graph:
1D:
X of
6_
y al
2t
A A AN S AW RS N NE T
21
_45
Bt
—8:
S0k
3) | y=2x Table: Graph:
{0l
X of
6_
y i
2t

o & & o
— T T



https://www.youtube.com/watch?v=_odWm9AgeAw
https://www.codecogs.com/eqnedit.php?latex=y%3D-4x%2B2#0
https://www.codecogs.com/eqnedit.php?latex=y%3Dx%20%2B%205#0
https://www.codecogs.com/eqnedit.php?latex=y%3D2x#0

Find the y-intercept and the slope and then graph.

4) |ly=2r+1 Graph:
The slope of the line is Wt
The y-intercept is E
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https://www.codecogs.com/eqnedit.php?latex=y%3D2x%2B1#0
https://www.codecogs.com/eqnedit.php?latex=y%3D-%5Cfrac%7B1%7D%7B3%7Dx-4#0
https://www.codecogs.com/eqnedit.php?latex=y%3D-3x%2B2#0

Skill 4: Combining like terms

Helpful Video Link:
-> Combining Like Terms

Practice: Simplify the expressions.

1) | —2¢+ 8¢ + 12bc 2)

14h 4+ 196% — 11 — 12b — 9b?

3) | ¢* —3g — 12¢* — 69> — 8¢ 4)

6x+ 4y —8x — 10z + 5y — 9

5) | a® + 7ab — 10ab + b* 6)

72 +5m —Tm — 50 + 2m



https://www.youtube.com/watch?v=HAkqb63Rzyw
https://www.codecogs.com/eqnedit.php?latex=-2c%20%2B%208c%20%2B12bc#0
https://www.codecogs.com/eqnedit.php?latex=14b%2B19b%5E2-11-12b-9b%5E2#0
https://www.codecogs.com/eqnedit.php?latex=g%5E2-3g-12g%5E4-6g%5E2-8g#0
https://www.codecogs.com/eqnedit.php?latex=6x%2B4y-8x-10x%2B5y-9#0
https://www.codecogs.com/eqnedit.php?latex=a%5E2%2B7ab-10ab%2Bb%5E2#0
https://www.codecogs.com/eqnedit.php?latex=72%2B5m-7m-50%2B2m#0

Skill 5: Integer Operations

Helpful Video Link:
=> Integer Rules

Practice: Simplify the expressions.

1| -7+-9 2) | —23—(-8)
3) |2+ -8 4y | 50 — 75

5) | —8 . —2 6) |10 —4

7) | —20+5 8) | -6+ —2



https://youtu.be/QnCoavZdzjc
https://www.codecogs.com/eqnedit.php?latex=-7%2B-9#0
https://www.codecogs.com/eqnedit.php?latex=-23-(-8)#0
https://www.codecogs.com/eqnedit.php?latex=2%2B-8#0
https://www.codecogs.com/eqnedit.php?latex=50-75#0
https://www.codecogs.com/eqnedit.php?latex=-8%20%5Ccdot%20-2#0
https://www.codecogs.com/eqnedit.php?latex=10%20%5Ccdot%20-4#0
https://www.codecogs.com/eqnedit.php?latex=-20%20%5Cdiv%205#0
https://www.codecogs.com/eqnedit.php?latex=-6%20%5Cdiv%20-2%20#0

Skill 6: Solving Equations

Helpful Video Link:
-> Solving Equations & Inequalities

Practice: Solve for x.

1) [13+2 =62 2) | 52 =60

3) | 10+ 7z = 45 4)



https://www.youtube.com/watch?v=QSJe6nhNxpA
https://www.codecogs.com/eqnedit.php?latex=13%2Bx%3D62#0
https://www.codecogs.com/eqnedit.php?latex=5x%3D60#0
https://www.codecogs.com/eqnedit.php?latex=10%2B7x%3D45#0
https://www.codecogs.com/eqnedit.php?latex=%5Cfrac%7Bx%7D%7B5%7D-1%3D10#0
https://www.codecogs.com/eqnedit.php?latex=3x-15%3D3#0
https://www.codecogs.com/eqnedit.php?latex=%5Cfrac%7Bx%7D%7B2%7D%2B21%3D45#0

Skill 7: Solving Inequalities

Practice:

Helpful Video Link:
-> Solving Equations & Inequalities

Solve for x and then graph your answer on the number line.

1) |5+x <12 2) | -3z >15
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https://www.youtube.com/watch?v=QSJe6nhNxpA
https://www.codecogs.com/eqnedit.php?latex=5%2Bx%3C12#0
https://www.codecogs.com/eqnedit.php?latex=-3x%20%5Cgeq%2015#0
https://www.codecogs.com/eqnedit.php?latex=10%2B2x%20%5Cleq%2016#0
https://www.codecogs.com/eqnedit.php?latex=%5Cfrac%7Bx%7D%7B4%7D-3%3E1#0
https://www.codecogs.com/eqnedit.php?latex=2x-8%3C4#0
https://www.codecogs.com/eqnedit.php?latex=%5Cfrac%7Bx%7D%7B-8%7D%2B11%20%5Cleq%2012#0

Skill 8: Standardized Assessment Practice

% The problems below are from different state tests. Please try each one.
% If you have trouble, write a note or question to remind yourself where you stopped.
% All problems should have work shown or a note/question.

1) | Which of the expressions has a value of 4?
Select each correct answer.

A. V64
B. V8
c. V16
D. V64
E. V4

o0 d oo

2) In the equation shown, what is the value of n?

97

Z —9?
9n

The value of n is:

3) | The graph of a function is shown on the coordinate plane.

Y

Which table consists of the ordered pairs that are represented on the graph?

Al x|y B.| x |y c 1y D- T,
~111 -2 0 -3 | -1 4 | -2
0|2 —-1.5] 0.5 -1] 3 —0.5|1.5
2 |4 0.5 | 2.5 1|3 0.5 | 2.5
4 |6 3 5 3 |1 4 3



https://www.codecogs.com/eqnedit.php?latex=%5Csqrt%5B3%5D%7B64%7D#0
https://www.codecogs.com/eqnedit.php?latex=%5Csqrt%5B3%5D%7B8%7D#0
https://www.codecogs.com/eqnedit.php?latex=%5Csqrt%7B16%7D#0
https://www.codecogs.com/eqnedit.php?latex=%5Csqrt%7B64%7D#0
https://www.codecogs.com/eqnedit.php?latex=%5Csqrt%7B4%7D#0
https://www.codecogs.com/eqnedit.php?latex=n#0
https://www.codecogs.com/eqnedit.php?latex=%5Cfrac%7B9%5E7%7D%7B9%5En%7D%3D9%5E2#0

Which functions are not linear? Select three functions.
Y%
y=5—a’

y =32 +1
LYy = —5x —2

3

A

B

C. 3x+2y=4
D

E

Fy=zx

OO0 d o odd

A system of two linear equations is graphed on a coordinate plane. If the system of equations has
infinitely many solutions, which statement must be true?

A. On the graph, there are no points (2, Y) that satisfy both equations.
B. On the graph, there is exactly one point (2, Y) that satisfies both the equations.
C. On the graph, any point (2, 9) that satisfies one of the equations cannot satisfy the ther equation.

D. On the graph any point (2, 9) that satisfies one of the equations must also satisfy the other

equation.



https://www.codecogs.com/eqnedit.php?latex=y%3D%5Cfrac%7Bx%7D%7B5%7D#0
https://www.codecogs.com/eqnedit.php?latex=y%3D5-x%5E2#0
https://www.codecogs.com/eqnedit.php?latex=-3x%2B2y%3D4#0
https://www.codecogs.com/eqnedit.php?latex=y%3D3x%5E2%2B1#0
https://www.codecogs.com/eqnedit.php?latex=y%3D-5x-2#0
https://www.codecogs.com/eqnedit.php?latex=y%3Dx%5E3#0
https://www.codecogs.com/eqnedit.php?latex=(x%2C%20y)#0
https://www.codecogs.com/eqnedit.php?latex=(x%2C%20y)#0
https://www.codecogs.com/eqnedit.php?latex=(x%2C%20y)#0
https://www.codecogs.com/eqnedit.php?latex=(x%2C%20y)#0

